S RIVAL

m DOOR KIT INSTALLATION MANUAL

m MONTAGEEINLEITUNG TUREN SET

For: BRP Can-Am Defender/Traxter (2016-)

2444.7266.1
444.7266.1

19|12

60 min

WWW.RIVAL4X4.COM



“ RIVAL

POWERSPORTS

EN Regular fasteners
DE Schraube herausdrehen

EN Regular fasteners
DE Schraube eindrehen und festziehen

EN Screw a several turns
DE Schraube wenige Umdrehungen eindrehen

EN Loosen bolts
DE Schraube wenige Umdrehungen I6sen

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Blickrichtung / Postionsrichtung

EN Screw Arrow
DE Drehrichtung




“ RIVAL

POWERSPORTS

EN Ratchet 5- 10 N EN Office Knife
DE Ratsche S- 17’ DE Biiromesser

x12

28 x16 | @6 x8 | &6 x4 | M10 x4 | M6x20 x2 | M6x35 x2
J J :/Z- >

M8 Q/ x4 | M6 Q/ x4 x2 | M6x70 x2 x2 x10







“ RIVAL
WERSPORTS

PO




“ RIVAL
WERSPORTS

PO




“ RIVAL

POWERSPORTS




“ RIVAL
WERSPORTS

PO

g S

&

/
I

S
—

V5




“ RIVAL
WERSPORTS

PO




POWERSPORTS






